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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions contained in the

Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are

in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified

places will lead to disqualification of the candidate.

Write your Question Paper code No. 68 / ESS /1-B on the Answer-Book.

(@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any one
of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  Ifyouchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.

In case of any doubt or confusion in the question paper, the English Version will prevail.
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Note :
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(
(iii)
(

This question paper consists of 45 questions in all.
All questions are compulsory.

Marks are given against each question.

iv) Section - A consists of
(@) Q.No. 1 to 20 - Multiple Choice Type Questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.
(b) Q.No. 21 to 29 - Objective Type Questions. Q.No. 21 to 24 carry 2 marks each (with two
sub-parts of 1 mark each). Q.No. 25 to 28 carries 4 marks each (with 4 sub-parts of
1 mark each) and Q.No. 29 carries 6 marks (with 6 sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions 21 to 29.
(v)  Section - B consists of
(@) Q.No. 30 to 38 - Very Short Answer Type Questions carrying 2 marks each.
(b) Q.No. 39 to 43 - Short Answer Type Questions carrying 4 marks each.
() Q.No. 44 and 45 - Long Answer Type Questions carrying 6 marks each.
fder
(i) =9 I-TF H P 45 T T
(i) Tt gea St ¥ |
(i) I T o WA TR 3k feu M F
(iv) @Ug - H A T :
(a) U HEAT 19 20 - IgfThedd YR & U § S YA 1 37 1 €1 37 U1 § e o =R foshedl
T 9 gad 39 fashed &l gHAT|
(b) U WEAT 21 § 29 - TS T & | WY WEAT 21 W 24 - YAF 2 31hi 1 & (S SUAMT & 91
T 1 37 1 §) WIT HEAT 25 W 28 YA 4 3l 1 & (AW IUHM Toish 6l 1 k) 3R U9
HE&AT 29 & 6 3 T (B: IUNF Y& &I 1 i) W9 WE&AT 21 ¥ 29 H Y& T # 3 T gl
STTIR J91 o I ST |
(v) @WUg-@ ¥ uHa ¥
(a) W9 HEAT 30 ¥ 38 - A TY-STWIT THR & T § IR TIF & 2 &7 |
(b) WY WEAT 39 T 43 - -3 TR & Y7 € 31 TAF & 4 37 |
(C) W9 HEAT 44 37K 45 - el ST TR & T € 31X TAF & 6 37 |
=]
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Note/ﬁa'ST :

(1) Answers of all questions are to be given in the Answer-Book given to you.
[t Tl o IR AR & TS IR-YRaen § & ford |

(2) 15 minutes time has been allotted to read this Question Paper. The Question Paper will be
distributed at 2 : 15 p.m. From 2 : 15 p.m. to 2 : 30 p.m., the students will read the Question
Paper only and will not write any answer on the Answer-Book during this period.

Y -9 I Ued & fan 15 e &1 99 fon mon 1 9v9-u3 1 faaor e # 21 15 o9t foh
M@ 2:15 o9 ¥ 2: 30 99 Tk B haldd G-I D1 U&7 IR 30 7afy & A o ISWR-YRaden |
HIE I & feraT |

SECTION - A /@UE - <h

2 2
1.  The eccentricity for the ellipse 31(—6 + y? =11is:
SHECK! E + % = 1 ! SHEA E
V7 V7 V3 V3
A) — B) — C — D) —
(a) = B) © O) 3
2. The slope of a line which makes an angle of 60° with the negative direction of x-axis, is :
S 1 I FAU, S RO x-3el 1 M % HreT 60° T HI0 @ E, €
1 1
A) 73 ® ~ 7 © 5 D) -3

2a b 3 =2
3. The two matrices {_ 4 6} and { d 3¢ } are equal for the values a, b, c, d :

2a b 3 -2 . i
aanaﬁ{_él 6}3@41& 3C}W@ﬁ,ma,b,c,da5ﬂ1?%:

S b=-2c=-2d=4 (B) a=-
3
5 b=-2c=2,d=-4 (D) a=3, b=-2c=2d=4

DESI]
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4.  The points A(—1, —1), B(2, 3) and C(—2, 6) are the vertices of :
(A) an equilateral triangle (B) an isosceles triangle
(C) a scalene triangle (D) an isosceles right triangle

fog A(=1, —1), B2, 3) 3{RC(—2, 6) ¥¥ ¥ :

(A) T gueg oy & (B) U qHfgsg st &
(C) T foumeng s & (D) T GAfgag FHRI &S
72311 -3] [-4 6]
5. The value of x for which {5 7} {_2 4 } = {_9 x} is :

e [ 3] [3 er

(A) 8 (B) 11 (C 13 (D) 17
6.  The equation x+7y—4=0 in the slope-intercept form is :
@I x + 7y — 4 =0 I FTGUES FIU &Y T :

£+7_}/:1 B — 7 4 C =_1x+é D =lx+
PR B) x=-7y+4 (O y=-7 D) v=-

N

(A)

7.  The relation R defined in the set A={x e [, 0 < x < 12} as R={(a, b);a=ba,be A}is:

(A) reflexive. (B) transitive.

(C) symmetrical. (D) an equivalence relation.

T==d A={xe [0=<x =< 12}ﬁWH R S 741 yepR & afteqife © R={(a,b);a=ba,be A} T&h:
(A) AT (B) ThITH Tl

(C) wHfHa 1 (D) A Ty T

1 6
8. If A= L 2} , then |A'|, where A' denotes the transpose of the matrix A, is :

?TFc:A=B ﬂ%ﬁhmw,aﬁA'WA%wﬁaﬁﬁmi%:
(A) —16 (B) 16 (C) -8 (D) 8

9.  The radius of the circle 4x>+4y?>—2x+3y—6=0 is :
(A) V37 units (B) V109 inits (@) @ units (D) X 107 units

4 8 6 8
%4x2+4y2—2x+3y—620 w1 e ®

@ e @ W T o) A7
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10. The domain of the function f{x)=sin~! (2x) is : 1
T fx) =sin 1 (2x) T G T :

-1 1 -1 1
(A) [-1,1] B) [-2 2] © |53 O |53
a2y Y dy \*
11. The degree of the differential equation ay +1° (_/j =0 is: 1
dx? dx

2 )2 4
st gt | 7Y Hﬁ(ﬂj _oHIEE
dx? dx

(A) 2 (B) 4 C) 6 (D) 10

12. Let * be a binary operation on the set N of natural numbers defined by the rule a*b=ab, for 1
all, a, b e N, then :

(A) *is commutative.

(B) *isassociative.

(C) *is both commutive and associative.
(D) *is neither commutive nor associative.

T Tgemur G * wihfae Gl & 9g=ad N R 30 YR IRuifud & f% a*b=ab &l |
a,be N ITd :

(A) * shAfarHT Tl

(B) *EEANITI

(C) * shAfafTH 3 Feart T |

(D) * ¥t shafaf g 3k 7 & Tear T

1
13. If y=‘/§+ T,then 2x ﬂ is equal to : 1
X dx

_ 1 dy ‘
Iz ¥ \/5+\/;%,a‘r2xaw%.

A) 0 B) 1 o - D) x-—
(A) (B) ©) N (D) .
14. If y=sin2x cos3x, then ﬂ is : 1
dx

IS 1y = sin2x cos3x g % T

(A) 2 cos2x cos3x—3 sin2x sin3x (B) 2 cos2x cos3x +3 sin2x sin3x

(C) 6 cos2x sin3x —6 cos2x sin3x (D) 6 cos2x sin3x +6 cos2x sin3x

=]
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15. Converse of the statement “If x is divisible by 4, then x is even” is : 1
(A) If x is not divisible by 4, then x is not even.
(B) If x is even, then x is divisible by 4.
(C) If x is even, then x is not divisible by 4.
(D) If x is not divisible by 4, then x is even.

e ATy, 4 9 fauiSa § @ x Tk T Hen @ o faed™ e R
(A) A, 49 fowfea 78 &, @1 x w8 He = )

(B) I x TH F@N E, Ay, 4 § famfea 7

(C) A x T H&A T, Ay, 4 9 fawifom 7 71

(D) AfSx, 4 9 fowisa F21 8, 1 x 99 & 31

16. The direction cosines of the normal to the plane 3x +4y +12z=>52 are : 1
THAA 3x + 4y +122=52 < 3Tfcd & fSh-hl A=A € ¢
3 4 12 3 4 12 3 4 12

(A) 3,412 B 5%n © 3 nn

17. The inverse of the function y= x2, forallx € Ris: 1

(A) fla)=-x (B fl@)=x
Q) fHx)=|x] (D) does not exist

T y=2x2, Si&l 9 x e R, S faeid %o ¢
(&) flw)=—x 7 (B) fT'@=xF
Q) flx)=|x|% (D) o A T T
18. The equation of the line passing through the points (1, 4, 7) and (3, —2, 5) is : 1
forgati (1, 4, 7) 3R (3, —2, 5) ¥ oA et &N HT THEH T
x—1 y—4 z-7 x—1_y—-4_ =z
(A) 2 -6 -2 () 2 2 12
x—1 y—4 z-7 x—1 y—4 z-7
2 6 -2

19. Which of the following is a vector quantity ? 1
(A) Mass (B) Density (C) Force (D) Time
7 # shiet wfew i €2
(A) =AFHH (B) = (C) da (D) wHA

N N

— A A
20. The unit vector parallel to the resultant of vector 4 = 3? - 2/} + ;c\ and b= —-2i + 4j + k is: 1

. A A A A .
Hfest ;=3?—2?+23ﬁ1b=—2i+4j+k%vmm%wmwm%:

A

A A 1(4 " A)
(A) i+2j+2k (B) §1+2]+2k

© %(? + 2? + 22) (D) = %(? + 2? + 22)
LIk
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21. Match Column - I statement with the correct option of Column - II 1x2=2

Column - I Column - II
0 a—b
(a) The matrix {b _a 0 } is a (P) symmetric matrix
1 2
by If A= L 2} , then |2A| is (Q) skew-symmetric matrix
R) -12
(S) -—24
TR - 1 % FeAl 1 hiew - 11 T2l fohed § fremd |
HIAT - I i - 11
0 a—b
(@ I |,_. o |TF: (P) HHMA T8 |
(b) H&A=E ﬂ,%,?ﬁ]ZA]%: (Q) foum Tmftd emege T
R) -12
(S) -—24
22. Fill in the blanks : 1x2=2

dy,
(i)  If y=cos(logx)3, then d_i is equal to

2
il The order of the differential equation | —% | + —X = ( 1is
(i) The order of the differential eq [dg] y

dx

ﬁaawﬁaﬁw&q

(i) IS y=cos(logx)® T, % TR T |

4
(i) aawaﬁw[d_zgj c Y w e |
dx dx

23. Write True for correct statement and False for incorrect statements. 1x2=2
(i)  The relation “is a factor of” from R to R is reflexive and Transitive but not symmetric.
(i) The function f: R — R defined by f (x) =x2+3 is one-one and onto.

T2 A o faT ¥ 3R o & o foe s6c fafau :
() RERH gRfoa Hag o1 UGS §'' Wged a1 HehlHeh § I S Tl ¢ |
(i) TS f: R — RS f (x) =x2+3 §RI GRIAIT § Th Thahl AR T=5<h e & |

DESI]
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24.

25.

26.

Write the negation of each of the following statements :
(i)  The number is less than 5.
(i) All prime numbers are odd.

Frefafaa oAl w1 fyA fafag

(i) Hen5dBRIT

i) w1 HeAd fovm weArd Bt €
Fill in the blanks :

(i) If y=sin~1(x?), then dy is

i) [3¥%5 *dx=

dy

1x2=2

1x4=4

(iii) The general solution of the first order linear differential equation d—l + Py=Q is
x

al + x
e Tl &l 9T
() ARy=sin-10)% & W 3

dx
(i) [3*5*dx= |

(i) ﬁﬁ@%%@m&mﬁm% + Py = Q & A=< & BT §
x
2
X
a  xe

i dx =
L
Fill in the blanks.
(i) It is not possible to add two matrices of orders.

(i) If A is an invertible matrix, then (A~1)~1=

1x4=4

(i) Three points are collinear if the area of the triangle formed by these three points is

(iv) A square matrix A is said to be a matrix, if A’= - A

e T =1 9w

(i) Yl % <1 TRl T AN G9G T 7 |

(i) R AFfaw A-1 s sfma 8 (A1)~ 1=

(iii) < foig W 2N afg 27 forgall @ o aelt iy &1 dwa g
(iv) T o T A TH IR FEATTT AfG A’ = —A B

OF:

[
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27. Write True for correct statements and False for incorrect statements : 1x4=4

(i j: Fx) dx = j: fla+b— x)du.

2
(i) If x=at*> and y="2at, then 4y =t
dx?

(iii) The slope of normal to curve y=f(x) at (x;, y;) is given by (%) at (xq, y4)
x

(iv) The degree of a differential equation is the degree of the highest differential coefficient.

TE YT & faU T 3R T YA & fou e fafan .

O [reyde=[fa+b-xd

(if) ?Tﬁq'x=at23ﬁ'{y=2at%,?ﬁ dz—y =t

dx?
(i) amyzf(x)aﬁﬁg(xl,yl)maﬁmﬁﬂmaﬁmmﬁw%(%)(xl,yl)mgrm
(iv) 3Tdehel THIHIT it ST Fod oISl Hife ATt STesher shi = &l |

28. Carefully study the figure given below and answer the following : 1x4=4

z

A B’

C
A P
zk A
5 >Y
iy B
A
X

A A N
(i) Whatare xi, yjand zk called for the vector 72

%
i) If ‘OA‘ = 4, |0B|=5 and |OC| =6, then express OP in terms of its component vectors.

- =
() If a, b and ? are the position vectors of vertices A, B and C of AABC, then write the
position vector of the centroid of AABC.

- -
(iv) If a and b are the position vectors of A and B respectively, then find the position
vector of the point which divides the join of A and B in the ratio 2 : 3 internally.

DESI]
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Yot ot ol sAges ufeu 3iR f geai o S i
) Thew , FaedH xi, v 3R zk BN F o TR ?
(i) ?T&"O_A‘=4,|OB|=5amyocy=6%,?hopaﬁmqﬁ:sﬁéawﬁwaaﬁﬁm

(i) af% Brs ABC % ¥l A, B 3R C % feufd Tfesii &1 4, b 3R ¢ & qwien s, o g
ABC & e I feufa gfew fafau |

(v) 7 a iR b, farge A iR B ¥ Feerfe wfew 2, 91 vw foig 3 Feerf e 3 FHEAT S A
3T B I fieT™ aTel Y@n-we 12 : 3 % U § of=: fawnfsm s 1

29. Read the passage and answer the question that follow it. 1x6=6
Let f be a real function and let c be any point in the domain of f. Then,

(i) cis called the point of local maxima if there exists h > 0 such that f(c) =f(x), for all
x € (c—h,c+h). The number f (c) is called the local maximum value of f.

(i) cis called the point of local minima. If there exists h > 0 such that f(c)<f(x), for all
x € (c—h, c+h).

The number f{c) is called the local minimum value of f.

The values of x for which f'(x) =0 are called stationary points or turning points.

The value of x for which f'(x) =0 or f'(x) does not exist are called critical points.

Further, the end of points of domain or f cannot be the points of local maxima or local minima.

2
Consider the function flx)= {u on R.
1+ x+ x2
(i) How many critical points does the function f(x) have ?
@ 0 (b) 1 (© 2 (d) 3

(i) Which statement about the critical points of the function f(x) is correct ?
(a)  All the critical points of f(x) are positive.
(b)  All the critical points of f(x) are negative.
(c)  Some critical points of f(x) are positive while others are negative.
(d) None of above as function f(x) does not have any critical point.
(iii) At positive value of critical point of f(x), the function f(x) has :
(a) Local maxima.
(b) Local minima.
(c) Neither local maxima nor local minima.
(d) None of the above as function f(x) have any critical point.
(iv) At negative value of critical point of f(x), the function has :
(a) Local maxima.
(b) Local minima.
(c) Neither local maxima nor local minima
(d) None of the above as function f(x) have any critical point.

DESI]
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(v)  Local minimum value of f(x) is :

(@ 3 (b) % () -1 (d) None of these
(vi) Local maximum value of f(x) is :
(@ 7 (b) 3 () 5 (d) None of these

et TTerter 1 o€ SR = forg WAl o S ST

T ST T T areafaes e € 3R ¢, f o Wid 1 &I fag 1 7@

() o T Sfeass @it foig %1 ST § AfE h > 0 61 S1fic 30 YRR ® f @¥fix e (c—h, c+h)
% AT f(c) = flx) H&A £ (c) 1 o T e gl Sl |

() c 1 T e #1 fog #e S €, afes ho> 0 w1 sifEE 39 yER © T asd
x € (c—h, c+h) % T fic)< fix).

AT f{(c) I £ THF TS A el ST 2|

x % o A 5o faT f(x) =0 Ty foig =1 Hig foig Feard 7|

x % o A 5k AT f1(x) =0 31 f(x) Tl h1g ARKE T 8, Fifdwh f6g Head & |

THF ST, f F Iiq & ifan foig, T Sfes stean T frers foig 76 & wahd 1

1—x+x2
1+x+x2

nﬂﬁﬁWRﬁm%ﬁ‘rﬂxF{ |

() flx) % fora shifaes foig €2

(@ 0 (b) 1 © 2 d 3
(i) 1 FeH we f(x) F ifasw foig & forw g €2

(a) f(x) % @t swifaes foig o B 1

(b)  f(x) % Tt shifder feig Feomere e 1

©  f(x)h TS hifaeh foig gHE SR 31 FHOMEF BN © |

d) S0 FHA H FE ot I TR, FH f(x) T RIS Hifaw g T8l ¢
(it) GFTcHeR Shifdeh foig TT, et f(x) o1

(a) I 3feass BT

(b) T 7SS BAm |

() I T e iR 7 & T frerss 2w

(d) WA feuTwH G FE off 7 ® Fifer f(x) 1 I wifaw 65 T2 T
(iv) SRUTHe shifeh foig W, ®erd f(x) 1

(a) T 3feass B

(b) T fETss g

() 7 T e iR 7 & T frerss g

(d) WA feuTuH G FE off 7 ® Fifer f(x) 1 I wifaw 65 T2 g1
V) f(x) T S 9 R

@ 3 ® 5 © -1 @) A
(vi) f(x) 1 THE PR AR R
@ 7 CRE © 5 @ T
E=aE
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3
30. Evaluate: ljm *— 8
x—>2x— 2
x> -8
M J1d I lim
x—>2x— 2
OR / AT
. sinx?
Evaluate : lim
x—>0 X
sin x2
qH I HIfSe : lim
x—>0 X
31. Find the distance of the point (3, 4, —5) from the plane 2x —3y +3z +27=0.
THAA 2x —3y +3z+27=0 ¥ T3 (3, 4, —5) T U J@ HIFGCI
32. Show that the derivative of tan™ 1[ i Zj w.r.t. sin 1(
1—x
TUET fF tan— 1( zxzj T TR, sin~ 1(
1-x
. _ 2 -3 [«x
33. Solve the matrix equation : { { } =
1 1)y
5 2R 2 3] [«x
“ : L J y} ) {
OR / A9
010
Solveforx: |y 2 x| =0
1 3 «x
1
xH TACBARNT : |y 2 o =
1 3 «x
68/ESS/1-311-B ] 12
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34.

35.

36.

37.

38.

Simplify : tan [sin_l (V1- x)] 2
Tl FARTT : tan [sin~ (VI — x) |

Reduce the equation of the plane —2x + 6y —3z= —7 in normal form. Also, write the direction 2
cosines of the normal to the plane.

HATA —2x+6y—3z=—7 &% HHIH hl AfMdd @&y | F3fordl | AqA & ATqAd o6
fep-nea o fafem |

W |
N

Find the equation of the hyperbola with vertices at (0, =6) and e =

39 3Afd Teerd Rl HHIRTOT F1d hifSIe fdeh 3™ (0, +6) TT Ichadl e = g gl

OR / AT

1
Find the equation of the ellipse, when focus is (—1, 1), directrix is x—y+3=0and €= 5

oW

(AW o o o n 1
Sreed o1 FHISRLUT 1A hifSre fSreent 14 (-1, 1), Schsdl e = o T & x—y+3=07%1

x+ 1 dzy
=27 " (x#1) find —2
Ify P (x#1) find 2 2
x+ 1 dzy
afe y = , (x#1) %, W —5 IM ST
x—1 dx
OR / 3{ra
If y= lex, Find dy
x dx

aﬁy=lex%‘,?ﬁﬂaﬁﬁﬁml
X dx

aZ+2a 2a+1 1
Prove that | 2a+1 a+2 1/ = (a—1)° 2
3 3 1

aZ+2a 2a+1 1

fog #ifsw 6 | 2a+1  a+2 1] = (a—1)°
3 31

=]
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-4 5

39. For the matrix A = { s 3} , verify that A(adjA)=(adjA)A=|A|l, 4

-4 5
g A= { ) _3} & fag, genfya <IfST fF A(adjA)=(adjA)A=|A|L,

40. For the ellipse 3x2+2y2=6, find the lengths of minor and major axes, coordinate of foci, 4
vertices and the eccentricity.

el 322+ 2y2=6 o foIu 3Tk 31afl wi carea, M & faderien, vid oiR Seh=ar 9w

—1(1 1( 1 _1( 2
41. Prove that: tan 1(;) + tan 1(—) = tan 1(§j 4
g =ifsT tan ™! (;) + tan ! (l) = tan ! (%)

42. Convert the equations of the line given by x —2y+3z=4, 2x —3y +4z=>5 into symmetric 4
form and find its direction cosines.

@1 x—2y+3z=4, 2x—3y+4z=>5 % HHHU I gAMHG &9 H qRafda s R 8 @1 &
fesp-=nraea ot 9 wifse

43. Find the value of E/zlsinx'ﬂ dx. 4
+ sinxcosx

T F1d FIT E/dex|

1 + sinxcosx

OR / 31eran

Evaluate : f3|x + 1| dx.

T 1@ HIT : f’3|x+ 1| doc |

44. Show that of all the rectangles of given perimeter, the square has the greatest area. 6
TRME ot o T 9T 3 TRl # | o 1 &R Sfuehan B 2 |
OR / 31t
Find the point on the curve y?=4x which is nearest to the point (z, 1).

Tk 2= 4x 1 I8 Toig I HITIC S oI5 (2, 1) § Fiohean T W R
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45.

A machine producing either products A or B can produce one unit of A by using 2 units of
chemicals and 1 unit of a compound and can produce one unit of B by using 1 unit of
chemicals and 2 units of the compound. Only 800 units of chemicals and 1000 units of the
compound are available. The profit available per unit of A and B are respectively I 30 and
% 20. Find the optimum allocation of units between A and B to maximise, the total profit.
Find the maximum profit.

IS A I1 B 1 ST hid el Teh T, A hi 1 Sh1S o ScaeT o foTU 2 3hTE T 3R 1 318
TR ST IUANT AT §; IR B T 1 THE o ScdeA o FoTT 1 3T T AR 2 ShTE MfiTes ot 39
I &1 hael 800 $ehTS THEH 3R 1000 318 ATTeh hi AT ST § | A 3R B i Tdh 318 W
HHW: T30 3T 20 1 N Al Ft 71 Afershad @1y AT HA ¥ THEAT A 3R B AT g
afeed WifeTy | sTfereham ey off Ja hifeig |

OR / A9aT

A manufacturer produces nuts and bolts. It takes 1 hour of work on machine A and 3 hours
on machine B to produce a package of nuts. It takes 3 hours on machine A and 1 hour on
machine B to produce a package of bolts. He earns a profit of ¥ 17.50 per package on nuts
and X 7 per package on botts. How many packages of each should be produced each day so
as to maximise his profits if he operates his machine for at the most 12 hours a day ? Form
the above as a L.P.P. and then solve it graphically.

e fmfan ‘e’ oiR ‘diee’ i STIRH YAl § | e 1 T Johe TOR it H HEIA A W 1 ¥l wM
FHEAT IST § SR TN B W 3 S T KT USAl § | e H T Yohe TR HA H AT A W3 =
I HEAT ST B 3R TR B W 1 w1 8 A1 gl g | FHid &l 7ed & T Yahe 3R dice & &
Yohe TR HH: T 17.50 3R T 7 1 TN U< Bl § | IS I 379 S A9 b1 Ffafe 12 5 STHRT el
B, 1 Afehan @1y SIfSd e o forg, 39en! fafed 57 1 3caeshl o fohar-fohae Yo TR A
B ? Teh aeh T §HE 9T SR oo fafy 9 g siftew |
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